
X-sect = 1.803E+02(pb)   AVG = 3.402E+00   RMS = 2.186E+00
Tot # Evts =   45770  Entries =   45579  Undersc =     0  Over



X-sect = 1.803E+02(pb)   AVG = 1.583E-01   RMS = 4.373E-01
Tot # Evts =   45770  Entries =   45770  Undersc =     0  Over



X-sect = 1.803E+02(pb)   AVG = 1.537E-01   RMS = 4.465E-01
Tot # Evts =   45770  Entries =   45770  Undersc =     0  Over



X-sect = 1.803E+02(pb)   AVG = 6.456E-02   RMS = 3.113E-01
Tot # Evts =   45770  Entries =   45770  Undersc =     0  Over



X-sect = 1.803E+02(pb)   AVG = 3.344E+01   RMS = 3.850E+01
Tot # Evts =   45770  Entries =   45731  Undersc =     0  Over



X-sect = 1.803E+02(pb)   AVG = 1.425E+02   RMS = 8.323E+01
Tot # Evts =   45770  Entries =   41244  Undersc =     0  Over



X-sect = 1.803E+02(pb)   AVG = 1.103E+02   RMS = 7.672E+01
Tot # Evts =   45770  Entries =   36276  Undersc =     0  Over



X-sect = 1.803E+02(pb)   AVG = 1.196E+02   RMS = 7.599E+01
Tot # Evts =   45770  Entries =    6056  Undersc =     0  Over



X-sect = 1.803E+02(pb)   AVG = 8.401E+01   RMS = 6.831E+01
Tot # Evts =   45770  Entries =    1055  Undersc =     0  Over



X-sect = 1.803E+02(pb)   AVG = 7.250E+01   RMS = 8.238E+01
Tot # Evts =   45770  Entries =    5494  Undersc =     0  Over



X-sect = 1.803E+02(pb)   AVG = 1.265E+02   RMS = 9.226E+01
Tot # Evts =   45770  Entries =    1489  Undersc =     0  Over



X-sect = 1.803E+02(pb)   AVG = 3.092E+02   RMS = 1.788E+02
Tot # Evts =   45770  Entries =   36229  Undersc =     0  Over



X-sect = 1.803E+02(pb)   AVG = 2.794E+02   RMS = 1.569E+02
Tot # Evts =   45770  Entries =    5931  Undersc =     0  Over



X-sect = 1.803E+02(pb)   AVG = 2.147E+02   RMS = 1.616E+02
Tot # Evts =   45770  Entries =    1055  Undersc =     0  Over



X-sect = 1.803E+02(pb)   AVG = 3.297E+02   RMS = 2.167E+02
Tot # Evts =   45770  Entries =    1488  Undersc =     0  Over


